Arithmetic.notebook

17.03.2021
XVILITT. MMXXI

March 15, 2021

L.O T can answer arithmetic questions accurately and at speed.

Year 3

How many seconds in 1 hour?
125 + 326 =

236 - 199 =
34x6=

8x7=
_____+76=2856
465-__ =131
____x10-=80
20x_____ =200
15 x 100 =

451+ ___ =567
__x3=27

2 x 200 =

Year 4

What months have 30 days?
3125 + 1756 =
4516 - 1345 =

364 x 4 =

9x12-=
____+999=3245
9635-___ =411
_____x30=600
4x_____=2000
30 x 600 =

5678 - ____=1567
_ x11=99

7 x 200 =
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ANSWERS
Year 3

1 hour = 60 seconds
125 + 326 =451
236 - 199 =37
34 x 6 = 204

8 x 7 =56
780 +76 = 856
465 - 325 =131
8x10=80

20 x 10 = 200
15 x 100 = 1500
451 + 116 = 567
9x3=27

2 x 200 = 400

Year 4

September, April, June,
November

3125 + 1756 = 4881
4516 - 1345 =3171
364 x 4 =1456

9 x 12 =108

2246 + 999 = 3245
9635 - 5524 = 4111
20 x 30 = 600

4 x 500 = 2000

30 x 600 = 18000
5678 - 4111 = 1567
9x11=99

7 x 200 = 1400
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